MULTIPLICATION: NEGATIVE DECIMAL NUMBERS (H - SET 4)

TWO DIGIT DECIMAL NUMBER fie Soomer
21 (0.5 x (=0.0057) = 56 =5 x 0.003 =
22) (0.1 x (=0.12) = w1 4 x (—=0.05) =
123 —3 % 0.018 = 138) —(.0003 x 32 =
21 —0.06 X (—=7.6) = 59 0.2 x (—0.58) =
2) 1 x (—6.8) = ) 0.9 x (—0.008) =
26 () x (—0.0019) = uy —0.02 x (=0.31) =
21 —0.01 x 0.027 = 12 —6 x 0.0075 =
28 —0.006 x 0.081 = 13) (0.2 x 0.0001 =
29 (0.007 x (—0.0008) = 11 —0.0002 x 0.0037 =

130 0.5 x (—=69) =
50,0002 x (—0.002) =
132 —(.3 x 0.0095 =

133 —4 x 0.0064 =

) —0.7 x (—0.087) =

139 —(.0005 x 0.08 =

Mathematics: Multiplication - Level 7 - Horizontal - Set 4
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8 x 0.0022 =

0.0006 x (—0.0026) =

0 x 0.026 =
—0.006 x (—98) =
0.008 x (—0.003) =

—0.006 x (—0.002) =
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